Normalized yield/TeV

13 TeV

[T T T T T T
4; CMS Simulation Preliminary Diquark: S - xx - (ug)(ug) {
E — MS)=2, MR =05Tev ]
351 — M(S) = 4, M(x) = 1 TeV E
F ——M(S)=6,Mx)=15Tev o

F — M(S) =8, M(X) =2 TeV E
250 — M(S)=10,M() =25 TeV
2k 0.24< a<0.26 -
15 —
1= E
0.5 LJ -
ol by, NI ==
0 1 2 6 7 8 9 10 11

Four-jet mass [TeV]

Normalized yield/TeV

13 TeVv

CMS simulation Preliminary

S RPV coupling A,

Top squark: T t* - (@ S)(ds) i

0.25< a <035 — M(t)=05TeV
—M(1)=0.7TeV
—M(t)=1Tev
—M(t)=2TeV
—M(t)=3Tev

e W |

|
0 0.5 1 15 2 25

3 35

Average dijet mass [TeV]



